AUTO-HAK Sp. Z o.0.

ul. Stoneczna 16K 76-200 SLUPSK

POLAND

tel/fax +48 59 8 414 414; +48 59 8 414 413 AUTO
e-mail: office@autohak.com.pl

www.autohak.com.pl

AUDI A6 Cat. no:

AUTO-HAKX

D

E20-55R-01 0919

4 D., Quattro (4B, C5), RS
W 04.1997==b 04.2004 A19

AUDI A6 Avant,
Kombi, Quattro (4B, C5), R&§

X 04.1998=> 02.2005

10,85 kN

R=2055 kg




1 x1 M14x40 x4
_ M12x70 x2
// M12x35 x4
w g( M10x100 x4
| M 8x45 x 1
2 x1 M8x20 x4
%ﬂ Art.nr-KL1A19 16|9 15 x4
3 ‘ x1 @ 37xP13x3

Art.nr-BL1A19 17 13 — DIN 9021 x4
4 ' X2 18 0 13 X6
I 19/ 10.5 x4

5 > x2 20|19 8.4 x10
& @ 21 14.2 x4
6 x1 2|0 12.2 x6
% 23|¢ 10.2 x4
7 % x1 24|p 8.2 x4
<>\ |25|M14 x4
8 x1 ©’ 26|M 12 x2
@ 27|M 10 x4
9 @ x1 28|M 8 x5




~ ~

ﬁMl4x4O x @ 215 2x @ 2142 2x @ Ml4 2xﬁ M14x40 2x @& 215 2x @ 2142 2x @ Ml4




Ix 210.5 2x 210.5
Ix @ 210.2 2x @ 210.2

2x M10

10

2x (Q\ 237x213x3




) 210, 2x 10,5
Ix @ 10,2 ) 2x @ 2102 ’

Ix & MI1o 2x M10

X @& 285




16

“H"'

Ix & 284
Ix & wms

1x 28,4

VaWaWai\ 17

‘n

=

(]

01_[

2x & 213

"0 ® “ 2 9 I
S
%X @ 2122
2x l ) M12

M6 - 11 Nm M8 -  25Nm
M10 - 50Nm M12 - 8&7Nm
M14 - 138 Nm M16 - 210Nm

( ‘ Okm—b‘ :i 1000 km

-10 -



	Strona 1
	Strona 2
	Strona 3
	Strona 4
	Strona 5
	Strona 6
	Strona 7
	Strona 8
	Strona 9
	Strona 10

